COMPUTER SYSTEMS RESEARCH 
Running Version of Your Program, example report form 2008-2009 

1. Your name: _Michael Sanders__________________, Period: _2___ 

2. Date of this version of your program: __28 Oct 2008_ 

3. Project title: _Solving the Vehicle Routing Problem with Multiple Multi-Capacity Vehicles_ 

4. Describe specifically what files are needed and the command(s) necessary to run your program 

    How to run your demo:

You need the following files: roadList.csv and type1clean.rb.  To run the demo, enter ruby type1clean.rb into a terminal.

5. Your program is running, now what? List test input(s) for the user to interact with your program. Specifically what should the user expect to happen? 

      Input(s): Two sets of streets that each intersect

Suggestion: input two that are close together (i.e. within .5 miles of each other) to ensure the program runs in a decent amount of time.

      Program's expected response(s):

      It will return a list of the nodes that it traverses to get between the two intersections.  In other words, it gives directions in terms of intersections.

6. What about user input errors? Are there incorrect user input(s) that your program handles? 

With respect to road data errors, the program can’t correct for that.  As for user inputs with regards to roads, the program will only accept a road that exists in the database as an input.  If the string entered for the roads is not contained in an array that has all the roads in it, the program will ask for the road again.

7. What is the programming doing, demonstrating, or analyzing? What is the user looking for in order to understand what you've been studying and developing with this project? 

Right now, the program finds the shortest route in terms of number of intersections crossed between two intersections.  The user is looking to see that this actually works, because it forms a key component of the project later on.

8. How has your program evolved during first quarter to now, the beginning of second quarter? 

Well, it exists and works.  It went from a program that could only handle short strings for locations to working with multiple hash tables and arrays.

9. By the end of this school year, what do you hope to have as a final version of your program in relation to this current version? What will you demonstrate during your final presentation?

The current version will form a major component of the final project, which is why it is taking so long.  By the end of the project this component will quickly return the most efficient route between two given intersections, where efficient is most likely defined as shortest time.

